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Moreover, said ' — 777 920 AN 32 By Ind

OVERVIEW

The X3 stated that when the X092 said 17773 °'"790 X377, its intent 1S to
reject the view of 7717 "1, who maintains that even two Mm¥°nn are a "1
Xn»7X7. The Xn>72 requires four (three) MX A (even RNIIRTN).

Some concepts and terms pertaining to this Md0N:

amoY 7 77PN '8 — literally “The edge of the beam descends and seals”,
meaning that in many instances, we consider that the edge of the beam
(which is raised [at least ten 2’1ov] from the ground) extends downwards,
and it creates a wall or 71X°11, even though in reality there is no wall there.
Man — a (side) street. In a W01 1KY 127, the area of the Man is delineated by
three partitions, on three sides, which separate the 2an from the m7xn,
which are on all three sides of the m2n on the other sides of the partitions.
Each 731 usually has a door or opening in this partition, by which the people
of the 7¥n enter the M2n, and subsequently go from the *12n into the 7"77,
which is on the fourth and open side of the "2n (similar to a cul-de-sac or a
dead end street). According to most opinions, this w9191 1°Rw Man is a "0
XN»7X7T, because it has three adjacent mx°nn. Nevertheless, since on the
fourth side, the 121 1s completely exposed to a 1"777, the 0’151 forbade one to
carry in the "2n, unless a °n% or a 1M is placed at the entrance to the "12n
from the 2"77, to clearly delineate the boundary between the ™2n and the
A", ' In addition, in order to be able to carry in a 127, if there is more than
one 17X opening into the *12», the various M7 that open into the M2» must
make an 117°Y, called nMX2n *910°w, in which they combine some of their
food for naw, and place it in one of the n17xm.

w2151 121 — is an open ended "M2n on two parallel sides, where it is exposed
to a 1" (similar to our streets).

217y — literally mixing or pooling. This term - in regards to a (7¥m) "2 -
refers, usually, to the pooling of food for n2w from the residents of the m7xn
which open into the M2, to permit carrying in the (7¥m) "2n. This is a

" The *nY is placed (vertically) on the side of (one of) the "1an walls which open to the 7"77. The 717 is
placed (horizontally) on top of the two 121 walls adjacent to the 7"7.
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requirement 7127772, that even in a valid °"7, since there are different
residents, who own separate domains, it is necessary to have them join
together, otherwise the 7% or ™22 may be mistaken for a 7"731.
nnai nX — literally “the shape of a door”, refers to one option of making a
7%, by placing two upright poles at a distance from each other, and
placing a third pole, on top of them, which gives it the appearance of a
doorway”.
7P 2 — A side post (placed vertically); beam (placed horizontally) at the
entrance to the m2n. Either a °r1% or a 77 is placed by the entrance to a 1an
to delineate the separation between the ™27n and the 7"737. The consensus of
opinions is that a 7 °n serve only as a demarcation point. There is a
minority opinion that a 7M1 °n% may serve as a ¥°mn.
— 315219591 /1 799 NNODINA NN 59N
This is how this Xn»72 reads in the Xn22In of '3 D P!
— %915 ©51a 72 1PaY YN 1NN MIPEN 73 PaY PN TN
Whether it is a window that is in the wall between two courtyards, or
whether it is a window that is in the wall between two houses, etc.
— 7N 29 5937 NAYA PHNH PHVLLVN NNIPN D290 MY MY DIV
And bridges and mausoleums and a covered 2'':19, in all of the above the
77 i1s that one may carry even more than M»nX '7 underneath the

aforementioned places, on naw. This is the opinion of %''9, who maintains that
underneath any area which is covered (even a 1'"777), that area is considered a "7, and we
are permitted to carry underneath that entire area even more than X"7.

— 5 NN %29 9N 19 by

Moreover said >'', etc., he then continues with the case in our X723 of 121 0°n2 "1w.
— D390 MY M8 NIYN DN %YWA D DY 911 VIV
The meaning of the term ‘moreover’ refers to the case of two houses on

* According to 10 2"ow "0 "X ¥"1w when making, what is commonly called an 217° (in camps etc.) by
utilizing this idea of nna7 NMY, it is preferred that the distance between the two upright poles be no greater
than ten NR (about 15 feet).

o,

* It seems that this part of the XnooIn is referencing n'"7 regarding whether two adjoining o>na ,mngn, etc.
are required to make a joint 27V or a separate 217°Y. It is not relevant to our discussion here. See 1775 IR
who deletes this line (from 71X until ¥713).
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two opposite sides of a ', moown explains that we refer to this case as
‘moreover’; because there is a bigger w17°m, in this case than in the previous cases
mentioned in the Xno01n; The w171 s -

— DD 199 NIPN 29 MY XYY 23 Y 9N
Even though here in the case of o°n2 "1, we cannot apply the rule of “the
edge of the roof descends and seals’, because in the case of 2°na "1 there is no
roof on the 71"717, as opposed to the cases mentioned previously -

— YSNIN I XY 291 199N YT NIPN D290 MY MY D9YHI 10D
like bridges and mausoleums and a covered 7' that is mentioned in the
Xwa of the Xnoon, where the domain in question is covered, and therefore
the principle of "21 77pn "o applies, and therefore you may carry there
because since we say an101 T 77PN 0 it is as if there are actual walls
extending downwards from the roof, so it is considered a >"717. Here however
by 131 @°n2 *1w there is no covering roof; nevertheless he may carry objects
more than X"7 and place them down in the street between the two houses. The
reason for this is —

— (%08 P3P NN T3 DI JIINTI RIPINNT MYNN /2 NNNY %29 920D
because >''1 maintains that two partitions are sufficient to render a domain
the status of a Rn=IRT2 °"717, as the Xx states in N33 92 P98, This concludes the

explanation of 13 %y 70, which is mentioned in the ¥n>"2.

mooIn asks:
— (6,0 P2®) PN YT SPIINND NN 219 KY INAN 1NN ON)
And if you will say; why does not the X3 cite here the mwn» of > pap
N -
— U911 21D 122991 NN 229 99N NV DNN NPT
For the mwn stated there, ‘and moreover says °''9 that it is permissible
to make an '217°y even in a 2% which is open at both ends to a \"7.” We

see from here that even though the *12» has only two parallel walls, for the other two
walls are completely open to the 7"717; nevertheless it is still a *"77. The question is; why

> In the X3 there both 721 and »ax agree that from our X092 of 191 2"y N> we can infer that *"1 maintains
RNPIIRT Myonn 2.

® It is always preferable to quote a mawn instead of a Xn™932, because the nMMwn were more universally
known and accepted than the Xnso1n1 MnN»"2.

7 mooin assumes that by the term 1271 we refer to the act of pooling the naw food, to accommodate this
rabbinic requirement. It seemingly has nothing to do with adding mx>nn. See ‘Overview’.
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do we need to prove from the Xn»92 that °"7 maintains that two walls form a °"in
XN*7X77, when there is a clear mwn, in which >"1 seemingly says the same thing.

nvoIN answers:
NHIINT MHYNN /) 920P) NNDN NIV P29PNYT SWIN9Y NIIN PPNNINNT 91217 W

And one can say; that we can interpret the 71w, that says you can make
an w7577 Mana 217y, that he is making the 2v9% (in addition to the 2w
mxa1m) by erecting a “door frame”®, in one of the exposed sides, so there
are now three partitions’; the two parallel side partitions of the "12n, and the
third partition which is formed by the nns77 N7 and he would maintain
according to this interpretation of the 71wn, that three partitions form a "7

RNM9INT, but we would not know that he maintains that even two partitions are a >"77
XN»7R7, therefore the Xna prefers to quote the ¥n>72, where there is no third partitionlo,
and still °"7 maintains that it is a Xn>»7IX7 >"77 with only two partitions.

Mmoo offers an alternate explanation'' to the previous question:
— D290 MYAIY YDIONN 3102 299X P5INNT NIMIN NIN 99) ON
Or you may also say the reason the X3 chooses to quote the Xn>921 instead
of the mwn, is because, I may think that the /mw» may be discussing a
"12» which is exposed on both ends to the 2"'77 -
— N9INY N2 D290 MY PN YaN

However the 2'""717 itself does not pass through the '*1an -
= 1A D2 (N1999)) 02290 NIV 1DIANT 19 by 917 NNIAN NN 9N

Therefore the X3 quotes the Xn>12 of "3 ¥ 2n>"" that even if a 2"
(77mm3) passes through between these two houses, nevertheless -
— RIINNT MEINN SNVT DIVN NNPHY INY 7 DY PHLIVN

¥ Even though the term 1"27y» (usually) refers to the pooling of naw food, not to the erecting of m’mn,
nevertheless, since a regular 217°Y permits us to carry in the 127, and erecting this 11097 N1 also enables us
to carry in this "12n, we may use the term 1°27v7 to include erecting a rino7 N as well.

? The o'nam, who argue with >3 in that 73wn, will maintain (according to this interpretation) that a nnsn Ny
is not a valid 7xomn if the a7 is 7"77% 7179, See 2,1 P17,

' He is just placing a 777771 1% at both ends (which is merely a 12°77), but not constructing a finss NN,

' See “Thinking it over’ # 3.

12 Therefore that w9om1 "1an may not have the status of a 7"177, and Xn>7K7A it is a MWD PR, and the MOX
%0 would be only 13127177, therefore only there does °" maintain that two mx°nn with a 77 °n% may
remove this 1312771 2070 MO°K, but not necessarily does it become a *";711. We cannot therefore derive that
our Xn*"2 excludes this case, for our X072 intends to exclude only another type of *"71. See ‘Appendix’
(and footnote # 26).
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One may carry more than X"7, in this area by just erecting a 79921 n®
because °"'7 maintains that two partitions are sufficient Rn>39INT? to render a

domain (even a 1"71) the status of a '*>"717.

mooIn responds to an anticipated question; how can we say that even if a 7"77, which is
sixteen NNR Widel4, passes between the houses, it can be made into a >"717.

— VYN NN /9 ANINT PIINNN (x> 97 1721 NP PI927 2) YY 9N)
And even though we have learnt in the first 99 of 1°217°Y concerning the
mwn there, which states that if the opening of the w9191 WRWw *12n to the

7"77 is wider than ten n»R, he should decrease the width of the opening, until
it is no more than ten nMX. °"7 disagrees with the X»p Xin there and maintains that even if
the opening is more than ten NAX it is not necessary to decrease the size of the opening.
Concerning this statement of >"1 —

— WYY NNIN V7 1Y RIN N1 229 99NN KD 9NN Hade 15)’)3\0)2
it seems from the X 13 that even though °" allows the opening of the "2 to
be larger than ten NMX, nevertheless, the greatest width that "9 permitted

was only up to thirteen and a third '*2K, so how did moon say previously that
the Xn»™ 2 teaches us that °"7 maintains that even a 7"77, which by definition is a
minimum of sixteen NMX wide, can be transformed into a °"737 when there are two
partitions, when from the X3 in 7217°Y we know that the opening of the 12 cannot be
greater than thirteen and a third 7nR, for it to be a proper *"77 .

mooIN answers:

— 12291 N
This stipulation that one cannot transform a ™27 into a proper °"71 if the
opening is greater than thirteen and a third NM»X is only a rabbinic decree'” -

" The 77p1 % are needed just to delineate the boundary between the *";11 and the 1"77. See ‘Overview’.

' See X,0% 77 2w that the width of the M9y that carried the 2°w1p plus one X in between the N3y took
up a width of sixteen NX.

15 [From the X n3 there it seems that this is inconclusive.]

16 See R, 17 1217y that the space between the Nk "05 (see our 2,1 X13) was limited to thirteen and one-
third nnR, which is the space needed for two teams of four oxen each, to pass through; the width of each ox
being one and two-third 7nx.

' This does not contradict what we are saying here that "3 permits carrying in this 1"77 bounded by two
houses even 112771, because as Moo explains in &1°n °3171"7 2,1 P17V that we are discussing a 1"77 which
is sixteen NMX wide in its entire length, however when it passes between these two houses it narrows down
to thirteen and a third nR. Had there been no houses in this narrow section, it would have retained its
status as a full 1"77, regardless of its width, however since it is bordered by two partitions, the two houses,
it is a Rn»7IX87 *"719, and with the 77921 °% one is permitted to carry there even 112772, See 2717 PWb.
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= RIINNT MEINM 72 N%D NHONRT PHVIVN NN 1779 AN 1PN RNPPIINTH VAN
However, 8n>1R772 even if the opening is sixteen M»R wide we may carry
more than X"7, if there are two M¥°r» because °'"'1 maintains that even two
partitions are sufficient XN>39IRT% to make a >"777, no matter what the width is.

moon differentiated between the 7awn which may be discussing a 2"77% w2917 M2,
however the 7"77 does not pass through the *12, while the ¥n>71 is discussing a case
where a 7713 7"77 passes through. M0N0 supports his contention:

— D39 OV PYPIAY N99) D390 MY 299X NINY 2297 991D 7298 TIN5 byv
For perforce we must say that ' is discussing the case where it is a D"
7723 292977 in which many people traverse through it -

=Y OV D390 NIV 122990 189D 2 (owr 3, 97 PIVYT NP P99 NIINTI
as is evident from we learnt in the first 299 of 19219 concerning the topic
of how one can be 39y» a 9"'719, and there'® I explained this proof.

mooIn poses an additional question:
— D390 MY NN PYNIND NINIANT XD 2INPTN RN 9NN ON)
And if you will say; since it states in the 82°® of this Xn>72 of "2y nMw1 '7
that streets that are open at both ends to a 7"771 are considered a 2''771" -
— 119D 529113 YPIONRY P2V 1YY
We can quite rightly assume that the Xn»72 rejects the view of 31 -
— MYINN NY NIINT 1129 D297 MY NN XY MY NINIAN N 1IHT
For according to °"1 the nwpn7 NIXI2R are not a 7"';717 since there are

the two partitions of the »1an. The question then is; why is it necessary for the xn»92
to add the phrase "7 X°77 17 to exclude the opinion of >"7; by merely stating that nX12an
mwona are a 1"7, even though they have two mx°nn, the view of °" is naturally
excluded.

mooIn responds:

— YN 229793 YPIONY 1199IY MIN KXY NXOY0NT 1YY Y
And one can say; that from merely stating the 82%0 of the Xn»93, that
MWD NIRIAA are a 1", that would have not been sufficient to teach us

18 xm°n *51 7" 1N 2,1 Py, The X3 there states that you cannot be 27y this *"77 of »" even if doors are
placed on both ends, unless you close the doors of the "12n at night; indicating that it is a w">"¥1 ,77m3 "7,
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that the Xn>72 rejects the view of 5''9, that one is permitted to carry between these
two houses, for it could be that even our Xn*72 agrees to the ruling of > -

- 19118’11)9 DIVN NP 2N 920PT DIVN AN 2297 NIYV NN NINT
for I might think that the reason >''9 permits carrying between these two
houses when a 7711 °n% are erected, is not because he maintains that two
mx i form a °"77, but rather, because he maintains that by placing a n®

7MY in this 7"70, it functions as a partition, making this area completely
surrounded by walls, the two real walls of the houses and the additional ‘walls’ of the °n%
7P, and therefore one is permitted to carry there, and we do not know that our Xn»"2
rejects this view that 7% Dwn 7121 °n%, since our Xn*°12, merely said that NN
PWDnn without a 7191 °n% are a 1"777, but perhaps with a 71 °n% our Xn>92 would also
agree to > that you may carry there, because 7%°m 0wn 7191 o1 -

— (410 97 P2YPYT NP P93 591 9207 INI NN
For there is someone who maintains this view that 7% 2w 7721 °n? in

the first P9p of 39219, therefore I might have thought that >"3 and indeed the Xn>>12
also maintain this view -

= 7N %297 YVIYNY 2011‘1”9) TN MY RN I INMNIY TPIVWN 19NY
Therefore it was necessary for the Xn»"21 to state this additional phrase “ 1t
77m3 %' RO, to exclude the ruling of 59, and therefore it is not permitted to

carry between these two houses -
— NYNN DUN KXY NP INDT 1NN MY M1 ROT

Because that area is not a >'';1m, for a 7™ ’n» is not considered a nxn»
and the two actual mx°r» cannot render it a *"71.

SUMMARY

"3 maintains that we say an101 771 7720 9, even by two exposed opposite
sides. There is no need in such a case for any 12°0 such as a 7 °n° to
permit X"7 70%0.

"3 maintains that Xn»7IRT Mx°2 "nw even when a 71"77 passes through in
between these two M rn. By placing a jX2m) 1827 77 WX °n? one may be
712771 279K K"T Duoun, provided that the width between the two mx°nn does
not exceed thirteen and a third nX. However, 807872 he may be 202un
regardless of the width between these two mxnn.

"% See “Thinking it over’ # 1.
0 See gloss from 2% Moo,
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THINKING IT OVER

1. How can we be certain that >"7 maintains Xn*7KX7 Mx°17 °nw, perhaps he
holds that 7¥°mn Dwn 79 n2*, just as mMooN said that we cannot derive
from the mwn of WBn7 M0 1727vn that XN*MXT MX°n» 2, for PA7vn means
with a nno7 n7X (which is an unusual interpretation), similarly here too you
may carry by 0°na 'a because 7P 1Y is 7 Dwn?*

2. Does our Xn>12 of 121 nMwA '7, require MX AN ' or MXN '7 to create a
M"?

3. Why are the relative strengths of the two 2°¥17°n on moon first Xwp?”>

APPENDIX™*

mooin first question was; why does the X123 quote the Xn>92 of 19 H¥ 0 to
prove that °"7 maintains XN»MIRT M¥N» nw, when the X3 could have
quoted the mwn of wonn Man 12797 and that would have proved the same
thing.

nvoIN gives two answers, that seemingly say in essence that from the mawn, 1
would not know that °"7 maintains Xn»R7 MX N "NW, because: a) in the
mawn he erected a NN N, so there are NIX M '3, or b) the WM "Man of the
mwn is not really a 7"77, and therefore it does not prove that nx°nn '3
RNTIRT even 1n a 773 "0,

It seems that NMo01N maintains that the X3 is interested in proving that >"'9
holds Xn»R7 Mx°nn '3, and therefore the 71wn is not sufficient.

However the plain reading of the X7n3 indicates that we are interested, not so
much in the view of »"7, but rather, what does our ¥n»72 wish to exclude by
saying 7Mn3 1"77 X7 1. Therefore if the X773 could have quoted the mwn,

2 See footnote # 19.
22 See o°now pnn.

2 See footnote # 11.
* See footnote # 12
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and said that 772 °"77 X717 17 comes to exclude the 17 of °"1 in the 7wn, of
WM M 127w, meaning that our X132 disagrees with that 17, and our
XN72 maintains that w2197 1212 1°279n PR, so certainly the Xn»1a will
disagree with the idea that Xn»7KR7 Mx°nn '3, for if XN7IRT MX N2 '3, then
surely we can be w9onn "an? 27yn. The original question seems
unanswered, why did not the X713 quote the 71w,

Pertaining to the first answer of nm»oIn, that the Mwn may be discussing a
nnaa NMX, so there are MY 1 '3, we can perhaps understand that the X713
cannot say that our Xn>12 disagrees with the 7Iwn, because most opinions
agree that Xn» K71 Mxnn 5. Therefore the Xn>12 may agree with the *rwn.
Concerning the second answer of M50 however, that the "12n of the 7Iwn 1s
not a 7"717, that is not sufficient to explain why we cannot say that our Xn>"12
comes to exclude that such a "2 cannot be made into a °"77 with two MY nn,
and certainly in the case of 19 9v 0> where it is a 773 2"70, two MXMN
cannot render it a >"77.

One possible explanation has been offered in footnote # 12.%°

Another approach may be that the X3 is looking for a clear nvWw
concerning a *"77, which our Xn>72 will exclude. Since the 71wn is not that
clear, as evidenced by the various mnn PR of 131 NvoN, therefore the XnA
chose the option of 19 %¥ 9, where *"1 maintains clearly ’&n»mx7 m¥nn 2

Another difficulty:

mooIn concludes that we know that the Xin of our X092 maintains that °nw
RNTIRT IRD MXOnn, since he says that PwW?1O1n7 MR are a 1", The vvn of
773 0" ROT 7 s to tell us that XM W KR TP °1, because we may
have thought that the reason of *"1 is because he maintains 2Ww» 711 19
7% rn. This seems to go against the entire thrust of M»oI1N, which was said in

» Even if the Xn>2 would disagree with *", but all would agree that it can be a *"77; they would argue
perhaps whether 122791 or not.

?6 The difficulty with this explanation is that the consensus (besides the 0"2%7) is that an 27 is na only
in a X"LHW PLI9IA 277 NV YT ,RNMIRT A,

*7 See however end of Moo, that it may be 73°m» oWwn 7P 1> ovvn and not because XN™IRT M ‘2.
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the introduction, that since "1 says 19 ?¥ 7, it means to say conclusively
that X0 R7 NXonn nw.

Perhaps we can say as follows:

Our X137 N0 was certain that since °"1 says 12 %Y 2n° he maintains '
XN 7IRT MX°nn, which our XN»727 XN obviously excludes since he maintains
that Pw1on7 NIXAA are a 1"71. However the Xn»127 Rin felt it important to
state "7 X°71 7, in case we would mistakenly think that 7%°mn 21wn 701 19,
therefore he comes to exclude even that remote possibility.*

This may also explain why the X3 does not exclude the mwn, and
consequently certainly also the 717 of "2 o°na '3, as was asked above,
because if we would say that >"777 X7 7 comes to exclude the miwn, some
may think that our Xn»927 Xin may still agree with >"7 in the case of o°n2 '3,
since they may both hold mx¥°nn oywn 7M1 °n%. Therefore our X3 chose to
exclude explicitly the case of *’a*na 'a.

¥ See [71871] X"w1mn. A possible explanation may be; when MmooIn says *"272 10X? or 121 *"T XYY K"AT
YoM Dwn AP N2, Mooin does not refer to the person of *"1 but to (the 0127 Xin of NMwA '7 in) the case
of *", namely 31 @°n2 "nw. NMHOIN may be saying that if we would not have excluded this case specifically,
we may have thought that the Xn>927 Xin (not >"7) would maintain that the case of o°n2 2 is a >"717 because
7% Wi AP onY. [This is a 21730377 pT.]

¥ See 2 b,

0 The difficulty with this interpretation is more than obvious. In addition Mmoo should have asked the
second question first. [This in its own right may also be a valid question. Since the first question of n1vo1N
is only as to why choose the Xn™72 over the m1wn, while the second question demands why do we need the
0w altogether, since we know it from the Xn»727 X9°0.]
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